DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

Class : XII
Time: 1.15 hrs
Total Marks: 240

12NPCB08 | NEET PRACTICE QUESTIONS
(2023-24) (TEST-8)

General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each
incorrect response, one mark will be deducted.
2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15 QC) SLLSHI 2. 6Ta15l. QUauTLas 2oy
Y 9185 AC eUpRBISHUL6ET @emetordasLliLbBID
1. If voltage across a bulb rated 220V, 100 W drops | Gumal <G8 <j6Te] QUBHLD LO6TGETTL L &M

by 2.5% of its rated value, the percentage of the | sefl&&@ms), LH LD LS\ 60TE0T (LD &5 55 55 &1 L_60T

rated value by which the power would decrease is | 72 &L GaumiLmliqe) LNeTHmE 2 6Temgl. X
MM Y CF aulpmIH UL 6T Q&L flemevor L6y
A) 5% B) 10% @ eneTHSELILIMAN CGUTE Ol6TC6OTTL L &H60T rms
G QL Nwirflev &mevords

C) 20% D) 2.5%
A) 10A2 B) 5/\2
220V, 100W WHUIILLUCL @@ oflend s eor
WeTeor(WsHS  CaumiLim®  2.5%  jeredlledlmH &l C) 5\2 D) 5/2
afpF&  gemLwld  ereofléy - GG
el ohe  assmen Esaisn B 3. In the series LCR circuit the power dissipation is

GMMUYLD?
through
A) 5% B) 10%
A)R B)L
C) 20% D) 2.5%
C)C D) Both L and C

2. A circuit element X when connected to an ac
supply of peak value 100V gives a peak current of | LCR Q&mLy wlerammley Smerr @oLIL| ergeor
5A which is in phase with the voltage. A second auflGw gHLEILD
element Y when connected to the same AC supply
also gives the same value of peak current which
lags behind the voltage by n/2 If X and Y are
connected in series the same supply, what will be
rms value of current in ampere?

A)R B)L

C)C D) Both L and C

4. An AC source is connected to a capacitor C, due to
A) 1012 B) 52 decrease in its operating frequency

C) 5\2 D) 5/2 A) Displacement current increases

B) Displacement current decreases
@M Wearamnled X  eedTm 2 mILILITeTS)

QU@L WLHIIL] 100 V Q&mesor.  AC  WJL6dT C) Capacitive reactance remains constant
@emeord:&LILGILD  CUME HenL &G QLB o
LGTGEOTTLLLD  5A Su60T8l  LO\6oT60T (L0555 8 SIL 6o D) Capacitive reactance decreases
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WNer@sH&HEH C  wmenrgl  AC
@) 60 600TE S LILIL_(H6TerTS). @36
T TG 6U6DIT GemnmMU|LD CLIMS

PV S SIL 60T
QUGS
A) @LUQUWIFA 06TCeoTTLL LD 2B &6 G 1D
B) @LUQUWIFH WleTCeor ML LD Gemnm&BmS!
Q) WeTCH &R WiletT LT MILIL| LDTMTE
D) 6T CS & E Ul 6ot L 6OTLOMILIL] &6 mU]LD
5. A capacitor of capacitance 150 pF is connected
to an alternating source of emf given by E =

36sin(120xt)V. The maximum value of current in
the circuit approximately equal to

A)2A
B) 12 A
CO)\2 A

D)2\2 A

LTOHag WeTCeTTL L epeuGHSILeT 150 pF
O6TCHEHGSHHMeT GG T6vor L 16T G & &G
@) 60)600T&H & L1LIL_(H 6TETSI. Q&ETMH&SLILIL L
et QU@ ellems E = 36sin(120nt)V  eTevflev
Wetramnilev 2 6Tem QLIHLD - Lol 6oT G6oT L L& H) 60T
WL CSHTIMTWLOMS..

A)2 A
B) 12 A
C)\2 A
D)2\2 A
6. In an oscillating LC circuit, the value of inductance
is 1.6 mH and the value of capacitance is 4 pF. If

the maximum charge on the capacitor is 4 x 10°¢
C, then maximum current is

A) 75 mA B) 12.5 mA

C) 125 mA D) 50 mA

R jemeva|mid LC &mmlev, LilesTgmevorLq.udleor
L& 1.6 mH mHomib 6T CaH&HRUN6T IGLIL
4 uF, 0eTCEH &G W6t QLB LWleoTenmL L DG LIL
4 x 107 C eTenfl6L QUIHLD LOl6dTG6oTITL_L_LD

A) 75 mA B) 12.5 mA

C) 125 mA D) 50 mA

7.1f 120 V, 60 Hz, AC voltage is applied to an LR
having R = 100 ohm and L = 2H, then current in
the circuit is

A) 0.32A B) 0.16A

C) 0.48A D) 0.80A

120 V, 60 Hz wmmHens Werersdsn LR
&FOHMNGG QFNEGSLILOGHME, LR &mHrjlév R =
100 e2Lb LDMMILD L = 2H eTevflev LledTammilev 2 6iTerm
Lol 60T G6uTITLL_LD

A)0.32A B) 0.16A

C) 0.48A D) 0.80A

8.In LCR series circuit, an alternating emf e and
current 1 are given by equations e = 100sin(100t)
V, and i = 100 sin (100t + ©/3) mA. The average
power dissipated in the circuit will be

A) 100 W B) 10 W
C)5W D)2.5W
@B LR  QsmLy &mflédd bLrmHas

STETWESD e WHmh WeTGTTL LD i-@)6T
&eool GBI  WHLIL&HET WemmGul e = 100 sin
(100t) V. LoMmitb i = 100 sin (100t + 7/3) mA, eTedfl6b
et mnilev FrmaFflmg @Lasa UL L SHmeor ...

A) 100 W B) 10 W

C)5W D)2.5W

9. A particle of mass m moving with velocity u
collides elastically with a particle of mass 3m at
rest. After collision the heavier particle moves
with velocity

A)u/3
B) 2u
C)3u

D) u/2

u HFCaIsESEH HHBGL a Blenmujemnluwl
@@ QUITIHET eUle] Blemevuled 2 6Tem  3m
BlenmwenLwl QUTHEBLET WL Gmsev
ML TP MG 6T6vfl6L GLOMEH V&G LI LI 63T &60TLOM60T
QUITHET & (HLD HemFGalss L.

Copyright @ THE ALCHEMIST CONSULTANCY



A)u/3
B) 2u
C)3u

D) u/2

10. A billiard ball moving with a speed of 5Sms™
collides with an identical ball, originally at rest.
If the first ball stops dead after collision, then the
second ball will move forward with a speed of

A) 10 ms™! B) 1 ms™!
C) 5ms™! D) 2.5 ms™!
5ms”’ GausSHeL QFeuad Llevewryl ubBS!

R6TM,  QBMLESHESEH  @ule] Blemevuiey
o 6Tem  9ICs5 wWMHFlmeT LBS 6T 60T
CMEHHMS. CLTHNHGL LT WHev LbhS
BlemeLWITS: BIMHB MG 6TevfleL @) TevorLmeug LibH)
(LNTCETTES HE[HLD GalssLD.

A) 10 ms™! B) 1 ms™!

C) Sms™! D) 2.5 ms'

11. A ball strikes a horizontal floor at 450. 25 % of
its kinetic energy is lost in collision. Find the
coefficient of restitution.

A) 1N2
B) 1/4
C) 12

D) 1/272

UbBSl eeTml  Seovpuler W& SemLS e
Femsuley 45 GCommemrsHev  CLMSIHMS.
Gmsedler GUIME 25% @ UIES MMM S
@WEHME eeflev IWSUFWefllL &GHoTsHSHemnS
& T600T&:

A) 12

B) 1/4

C) 12

D) 1/242

12. A bullet of mass 20g and moving with 600 ms™!
collides with a block of mass 4 kg hanging with
the string. What is velocity of bullet when it
comes out of block, if block rises to height 0.2m
after collision?

A) 150 ms™! B) 300 ms™'

C) 200 ms! D) 400 ms!

20 g mleom WMOMID 600 ms' HenFCalsHSSIL 60T
B&EMBD CHMTLLT ety SHUlm earmle) QFHTHSH S
Q&TETI(H&H G 4 kg BlemmujeTer sl enlufler Wig
GLTEIBME. CMEHMEEL] N6 &L enLwmersl 0.2 LS
2 WD 2 wWibsme slelamw i@ QeueflGw
QLD CUTE GHTLLaN6dr et &FGaudsLD 6T6dT6oT?

A) 150 ms™! B) 300 ms™

C) 200 ms™! D) 400 ms™

13. A block of mass 0.50 kg is moving with a speed
of 2 ms™! on a smooth surface, it strikes another
mass of 1 kg and then they move together as a
single body. The energy loss during the Collison
is

A)0.67] B)0.167J

C)0.34] D)1J

050 kg Blem Q&MEITL 6(H &L 6MLUIMTETSI
QIREIWRLILITET LITLILI6L 2 ms™ 6T6dTm G6udH & FH 6V
B&GH I, 215 LHEODT® 1 kg Blevmuisr s
Grm®H @Cy QUMmETTES HHMHHRMSE 6refleL
GLOMEE6T GUIME! gFMLIL L QL,MMeL @LoLiL]

A)0.67] B)0.16]

C)0.34] D)1J

14. A particle of mass m moving with speed u collides
perfectly inelastically with another particle of
mass 2 m at rest. Find the loss of kinetic energy
of system in the collision.

A)0 B) 1/3 mu?

C) 1/2 mu? D) 1/5 mu?

u CassHe) [BHIID SFIGET @TM U6
Blemeuullel 2 6T6m 2m  BlemUleTeT LOMEMTH
Qummerfledr 18 WWw WLAWDHM CLmsedlev
FhHU@QSmS! erevflev GLmgedleT CUMs gHUGILD
SQLMM6V @\LPLIEDILI &IT600TSH
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A0 B) 1/3 mu?

Q) 1/2 mu? D) 1/5 mu?

15. A ball falls from a height such that it strikes the
floor of lift at 10ms™'. If lift is moving in the
upward direction with a velocity 1ms™, then
velocity with which the ball rebounds after elastic
collision will be

A) 13 ms™! B) 11 ms™!
C)9ms™ D) 12 ms™
@M GUUlLL 2uwrsHelmbhs  10ms’

GausSH eV QU@L LHS eTml Tms' CalssH eV
@6y GBHMEHEE HHIID WOTEHTEHRUNT 565 S 6V
GLMEHIH MG eeflev LB L& CLOTHevenLHSI
GLEWIDLLD HlemFGalssID.

A) 13 ms™! B) 11 ms™!

C)9Ims! D) 12 ms!

CHEMISTRY Q.No. 16 to 30

16. A button cell used in watches function as
following If half cell Potentials are

7 +Ag,0,,FH,0 ) — 2496 + Zniuy + 20H )

Znty + 26— ZIngE°=—0.76 V
Ag, 0+ H,0(1) + 2e — 2Agy + 20H ) E° = 0.34V

The cell Potential will be

A) 0.84V B) 1.34V

C) 1.10V D) 0.42V

M&HHIQETIHIG6 )  LweTU®W  WleTseuln
esTeUBLMM QFWOLQS M.
Zn, +Ag,0, +H,0, — 2Ags + Zntiy + 20H,
Z’n(%;,) +2e — st)EO =—0.76V
Ag, O+ H,0(1) + 2e — 2Agi) + 20H ., E° = 0.34V
GLDM & 600TL | em 7Ll 6oT FHVS5H 6V
WeTeoT(WHFHMHIG6 6L @UBHS 60T 605 H) 60T
6T (WSS 560 5600155 (H 5.

A) 0.84V B) 1.34V

Q) 1.10V D) 0.42V

17. A hydrogen gas electrode is made by dipping
platinum wire is a solution of Hcl of PH = 10 and
by passing hydrogen gas around platinum wire
at one atm pressure The oxidation potential of
electrode would be?

A)0.118V B) 1.18V
C) 0.059V D) 0.59V
PH = 10 o6TeT HC SHorFedsy  enp&

meus&ILL(BeTemr  Wlemmiigeorin  dledTeumil
ELOGVLD 6QMLY.ITR6IT QUM 2 (heUT&H&ELILIHSH M.
e® o6l WwESSSL Wareumanw  SmHl
AL 78260 QUL QEFLR M 6160160
Ll edTeumulledT 2u,86n0CaTmm HM 60T 6T60T60T?

A) 0.118V B) 1.18V

C€) 0.059V D) 0.59V
18. When 0.1 mole of MnO * is oxidised the quantity

of electricity required to completely oxidise to
MnO,” to MnO,

A) 96500C B) 2 x 96500C

C) 9650C D) 96.50C
0.1 Gwmeu MnO,” &3 MnO, &&eilgGarmmLd
DML W& Q&FWIW G & 6m6U UL T6oT
LAl 60T G6OTITL_ L&) 60T 261T6)| 6T60TEOT?

A) 96500C B) 2 x 96500C

C) 9650C D) 96.50C

19. A Derice that converts energy of combustion of
fuels like hydrogens and methane directly is to
electrical energy is know as,

A) Fuel cell

B) electrolytic cell

C) dynamo

D) Ni-cd cell
QL7260 LOMHMILD 158 B 601 L&
aflounmpLsener el 6T epeuld QLMD
qflBsel QauliugGensd GCBIMsE  L6TerMMeVTs
DTHMILD &Hel 6TSI?

A) eriflfleTEEVLD

B) WedTLIG 6] LiledTaH6u1D
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C) emLeor@LOIT

D) Ni-cd il6or&6uLh

20. Aqueous solution of which of the following
compounds is the best conductor of electric

current?
A)CH,0, B) HCI
O) NH, D) CH, 0O,

ereu@d Gerwmiseflar Brs sengFevserfley
618 A mbH S L6oTEHL & 5)?

A)CH,O

207472

B) HCI

) NH, D) CH,20,

21. The molar conductivity of'a 0.5 mol/dm3 solution
of AgNO, with electrolytic conductivity of
5.76 x 102 cm™ at 298 K. is,

A) 2.88 S cm?*/mol
B) 11.52 S cm?/mol
C) 0.086 S cm?/mol

D) 28.8 S cm*mol

298K &V LOTHLSHH mer 5.76 X 1073 em™! 2_6TerT
0.5mol/dm3 & e & edl 6T GLOMeVITH 8 L& &1 5) 606015
5600185 (h) 5.

A) 2.88 S cm?/mol

B) 11.52 S cm?/mol

C) 0.086 S cm?/mol

D) 28.8 S cm?/mol

22. If the E° cell for a given reaction has a negative
value which of the following gives correct
relationships for the value of AG® an K eq?

A)AG*>0;Keq<1
B) AG°>0O; Keq>1
C)AG*<0;Keq>1

D) AG°<0O; Keq<1

QETR&&EILL(HeTem @ LlarsagHer E°
cell Queoral 6THT WG IS eJeoTmTev AG®
WMHMID K FOBIMVHEGID 2 6T6MT QSTLIenL
LNesreu@d Qs L sefley Fifluimers 6rgi?

A) AG® > 0; Keq > 1

B) AG® > O; Keq > 1

C) AG® > 0; Keq > 1

D) AG® < O; Keq < 1

23. The number of electrons delivered at the cathode
during electrolysis by a current of 1 ampere in 60
seconds is (charge of electron = 1.60 x 10-"°C)

A)6x 103

B) 6 x 10%

C)3.75x 10%

D) 7.48 x 10%
1 wwuy Wer orosenssd Q& meoor(h
60  QBMQ&EeT et UGHGWL GUMS
BT lereumuilev Qaueflul_LiL@® b
6TV & LT TedT &5 61l 60T 6T600T 6001 | 5560 85 6TGOT6OT?
(TQeu&L_ymeoflent LiledTaemLn - = 1.60 x 10°C )

A) 6 x 103

B) 6 x 10%°

C) 3.75x 10%

D) 7.48 x 10%

24. The radical ©_ CH,- is aromatic because it
has,

A) 7P orbitals and 7 unpaired electors
B) 6P orbitals & 7 unpaired electrons
C) 6P orbitals & 6 unpaired electrons

D) 7P — orbitals & 6 unparted electrons
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@—CHZ' geatm o miil  SGFTGIL IS

S6E0TEm LD 6M LIS 6] Gl 6oT6uf16D,

A 7P STl Lmeus6eT WwoHmih 7 Haflss
6TQ6VE LT IT6OTSH 6T

B)6P TN LMeU&GET WMmmIh 7 SHellss
6TGI6VE LI IT6OTES 6T

Q6P - oI LMLSGET WHmID 6 Haflss
6TGI6VE LT IT6OTES 6T
D)7P ST LMeV&6T WMmmID 6 SHeflHs

6TQ6VE LT IT6OTE 6T

25. The structure of Isobutyl group in a organic
Componds is

A) CH,~CH,~CH,~CH,~
y  CH
CH,—C—
|
CH

3
CH,
C) >CH—CH2—
CH,
D) CH,~CH-CH,~CH,

@m &l CFInEH KCFT  LIwLlenley
2 mIIL96T SjemLoLIL] 6T6oTLIGI

A) CH,~CH,~CH,~CH -

CH,
Q) > CH—-CH,-
CH,

D) CH,~CH-CH,~CH,

26. Some meta directing substituents is aromatic
substituents are gives. Uterich one is most

deactivating?
A) —-COOH B) -NO,
C)-C=N D) -SO.H

SCITCLOL 1985 USH S GHID aflemeoraserflev
Flev QLLLT el BLESID QFTSGHG&6T
SrUUL(eTerer. aummiev a7 W& H&HLIMs

QEFWELH M6 GHMMERMSI.
A) -COOH B) -NO,
QO-C=N D) —SO,H

27. Which of the following organic compounds
has same hybridisation as its combustion (CO,)
product?

A) Ethane B) Ethyne

C) ethene D) Ethanol

Nereu@Ld siflin GEFFLOUNLD, SiSHelemL i 6Tfl560
ellemerlIQUI@GeTT&HW CO, b @GF ellgLlomer
&HeVLILN6GOT DTS &H6m6v G\LIM MIGTET60T?

A) I & G & 60T B) FF & 60)& 60T

Q) I &5 601 D) 678 & 60TT6V

28. Which one is most reactive to wards nucleophilic
addition reaction?

@CHO
A)
(0]
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&HHHEHT CoFTHmE allemeruiey L& FH &IOS
aflemeotfluLD SH6dTemDU]6m LIS 6TS?

CHO
A)
0]

29. Which of the following compounds will
undergoes racemisation when solution of KOH
hydrolysis?

A)@(

B) CH,—CH,~CH,—Cl

CH.Cl

CH,
C) |
CH,-CH—CH,—Cl

CH

3

|
D) H—(li—CI
CH

25

KOH Q& meoor(h) BrmMUGE G0 CUMg LleTel B
GFnmIGeTley 618 SGHLPWMUl  SHevenelM@GLd
allemenTs @& 2 L LUOQS mSI?
CHC
o
B) CH,-CH,-CH,—CI

CH,
C) |
CH,~CH—CH,—Cl

CH

3

|
D) H—(ll—CI

CZHS
30.In an SN, reaction as chiral Centres there is
A) 100% racemisation

B) Inversion more than retention leading to partial
racemisation

C) 100% retention
D) 100% inversion

605 J60 SfemLoLILT 60T LG SN, el emeoTull6dT ST &L
A) 100% & LAILOITUI & 606061 WITEH 6V

B) &jemLoLIL] Blemey QLIMIGEM6V (retention) eT&H T

FPMHEAWTH  (Inversion) H&HLIDMTHEVT6L
UGS b [T 4V &H6V60)6 UL T8 (& 5606V
2 (HUMEHGHMSI.

C) 100% emLOLIL] Blemey GlLIMIG 6V

D) 100% S{6mLDLIL]| 6TSH FL0MIG 6V

| BIOLOGY (BOTANY) Q.No. 31 to 45

31. Gene amplification using primers can be done by
A) Microinjection
B) ELISA
C) Polymerase chain reaction

D) gene gun
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NengworiseneT Q& meoor(h LOTT L1 6501 &5 85 60) 61T
QUIHSHSNEM L Q&FUWIUWLD (Lemm

A) H1600T 2_L_ Q&8I &SI 56V
B) ELISA
Q) umedln@renv MG 6d 6lemeor
D) eS6dT FILILIMTES)

32. Ti plasmid is obtained from
A) Bacillus thuringiensis
B) Agrobacterium tumefaciens
C) Agrobacterium rhizogenes

D) Escherichia coli

eTaumnileL @B & Ti LNermerud (B QUDLILIGSH M S
A) GLIF6vevEN FiTflEhE Wi6tTE e
B) &&GrmumsLerfluwiln 19 uLdlGLIG weTen
Q) &CrmuUmserflub enyCFmGIeg6iTen

D) eTe Q&M FAIWIT C&Memev

33. Restriction enzyme, which cuts by sticky end is/
are

1. BamHI
II1. Hind 111

II. EcoRI
IV.Alul

A) LI, I
B) I, II, IV
C) 11, 111, IV

D)L III, IV

RL (WD (PEDEITHMET  SHI60TI| &S
FHL&L(H QBTH(56T) 6Temeu?

|. BamHlI II. EcoRI
[l. Hind Il V. Alu |

ForlQ UL

A) L
B) I, II, IV
O, v

D) I, 1, IV

34. Which one of the following not used as SCP
A) Lactobacillus
B) Yeast
C) Chlorella

D) Methylophilus methylotrophus

Bp&HeoTLaIMMeL 618 HellQFLLTSI0MSL
LweTU®SSL LG eUFH606mev?

A) Geu&EGBLTCLFI6V6V6N
B) FeruL_
Q) &GeTmIeL6eLIT

D) QDG 6m & BeuMsLI606v6N0
QGG CEVITL_GIF T LGN

g - is a common laboratory technique used to
make copies of a particular region of DNA.

A) ELISA
B) PCR

C) Gel electrophoresis

D) Electrolysis
DNA aflett GMILILL LUGHHM6T H&HeVSHETTSH
2 (heUMHSLI LWeTURSSLILIGLD  puleus
QamblebmL LD

A) eTemeV&IT (ELISA)
B) LIMeSILnByeiv FmIE 60l ellement (PCR)
Q) @wwn WeteormmLArfliy

D) Wledreor mmLAMILIL

36. Identify the correct statement

Statement I. Any process after fermentation is called
Upstream process

Statement II. Metabolites produced for the
maintenance of life process of microbes are known
as primary metabolites

Copyright @ THE ALCHEMIST CONSULTANCY



A) Both are true
B) Both are false
C) I true II false
D) I false II true
FrilWimeor gsmmlemeoT & e600TL M8

Fahml |. QBTHSSNEG LNMG HenL QUMD
/&6 GMETE LISLILIMSSISH6 eTeorlILGID.

FaH M 1. 16vorsom) Ul rfl &5 6rfl 61 o udlrr
QFWEV(LNEMMEEMETLI ugmfliugsmsens
2 MUSH Q&G IQUI6M6) (LS 6ELIBlEM6V

QUETITR NS LOMMHM QLIMTIHL &6 6TeorILIGILD.
A) @resor@ b &if]
B) @Uenor(hLd Heum!
O 1 &, Il Heum

D) | Heuny, Il &Fifl

37. Statement I- Cloning vector is used to cut DNA
insert

Statement I1 - Expression vector is used to produce
clones of the DNA insert.

A) Both are true
B) Both are false
C) I true 1II false

D) I false II true

Famhm | - BHOTHES STRRG&GELESSFH DNA
QEF([HEEM6V FI600TI.&HB M.

Famm Il -  Qeaeallu@ssin STRS
HLEFH W Teors DNA Q& (860861607 5856085606
2 MUSH QFURMS

A) @uevor(hILd &l

B) @ueuor(hiLd Heum

Q) | &rfl 1l eumy

D) | seumi Il &rfl

38. Identify incorrect statement with reference to
pBR 322

I. It is expression vector

II. It is reconstructed vector

III. Three marker genes

IV. 322 represents number of basepairs
A) Il and IV B) I and III

C)land IV D) I, Il and IV

PBR 322 GMI&H HUMTET FaMenm & 6vorL_5

. @8l @@ QaleaflliL@GSHSID STHRGRG&L &S5

Il. @& @ LLNETMGESLILLL TR &L 55

I, LOEOTMI 2 6T)L_UIITEIT LOTT LI IO &5 &5 61T

IV. 322 6T6dT LIS & TIT &) 60600155611 60T 6T600T600T | 86085
A) Il and IV B) I'and Ill

Q) land IV D) I, Ill and IV

39. Infoldings of mitochondria are known as
A) Cristae
B) Matrix
C) Cisternae
D) Thylakoids
el GLmasmevor L flumg &erflesr 2 6Bl S &6 _
A) fleruGL
B) LomL_ifl&6n
C) AenvLMGeor

D) &6V TUI(H & 6T
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40. Identify correctly matched pairs

I. Chromoplast — Contain  pigments other than
Chlorophyll

II. Leucoplasts — Devoid of any pigments

III. Amyloplasts — Store proteins

IV. Aleuroplasts — Store oil and fats

V. Elaioplasts — Store Carbohydrates
A) IT and 111 B) III and IV
C)IVand V D)Iand II

Frilwmeor @)emeooTen) Wl 8600T L1 &5

l. GCrmGLMLIeTmevL. — LIFem& LD S5 &

NomlmLdlseir
Il Slw, B mLlleTmeruL. — BIMLA& 6T M men el
. emnGeumiiermeivl. — Liggs CadlLiL

IV. 2160w GrmLilemmenuL. — 6T60oTQ 600TU, Q& TADLIL]

Gadlliy
V. @emeuBWimLiermeul. — sTrGLmemaml Gl
(=310 [N
A) Il and Il B) Ill and IV
Q) IVandV D) land Il

41. Identify correct statement with reference to
Plasmodesmata

A) Lignified cemented between cells
B) Locomotory structure
C) Membrane connecting nucleus with RER

D) Connection between adjacent cells

LlemmenGLme LevGLoL LT
Fa.MHEMM 856007 LM 5

GMsSs  Frlwmer

A QFLHEBEHG  @enLulevmer 608 eofleor
QUITIH6T

B) @LLUQUUWTFHF &M 3{emnLollL]

10

Q) 2 L& (Hedl6e0r6oT RER 6)L_60T ©) 60160018 GLD F616

D) 3| (H5([HB5 2_6T6IT 6\ &F 6V & 615 8 ) 607 L G LI UL 60T
@) 60)600T LIL |

42. Which of the following is mismatched?
A) Cell inclusions — Glycogen granules
B) Microbodies — Peroxisomes
C) Centriole — Membrane bounded organelle

D) Ribosome — Non membrane bounded organelle

G LD & 60T e M NIl6v 6TGl SHeUMTH
QUTMBSSLILL (H6TeTsI?
A) QFL 2 LQUITBLEET - &HeneTCahTeeir

BIGH6ITSH 6T
B) [BI600T 2_L_6UMBI&6T — QLITTEHCFTLDG 6T

0) QFarTL_flGwmey — &euallermey @LOLUILIL L
151 600T S0 M1 LIL| & 6T

D) Gml;r.@urrcsgl.'rm \ Feuallermey GGLOLILILTS
516007 650 101 L1 L| & 61T
43. Identify correct sequence of bacterial cell envelop
A) Cell membrane — glycocalyx — cell wall
B) Glycocalyx — cell wall — cell membrane
C) Glycocalyx — cell membrane — cell wall

D) Cell wall — glycocalyx — cell membrane

Umslerflw g6 2_emmuies &rflulmeot aurflensemul
&600T L1 &.

A) QFLF 66 & 6068 G5 TG G691 8561

QFeLEaUT

B) Sem6md G5 G 86018610
QFLF6ICY

QFVEUT

C) P e emE:CHTCH N &6
QFeLEaIT

Q&F6L &F6U6)

D) Q&F6L&eUly & 601615 & TG 5601861

QFLF6IG
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44. Middle lamella is composed of

A) Glucose
B) Calcium pectate
C) Glycoprotein

D) Peptidoglycan

QF6LEN6T @) 6MLWLI(HE G 6TS60TITEY B, 60TSI?
A) &©H&HCSHMe
B) SmMeu&H WD QLISCLL
C) Bem6rms: G LG ITL_1q 60T

D) QLILI9 GL TS 606G 60T

45. Match the following

Column-I Column- 11

a. Endoplasmic

reticulum (1) Stack of cisternae

b. Spherosome (2) Store oils or fats

c. Dictyosome (3) Synthesis and storage of

lipids
d. Peroxisome (4) Photorespiration

e. Elaioplasts (5) Detoxification of drugs

a b c d e
A) 5 3 1 4 2
B) 3 4 2 1 5
C) 3 1 2 4 5
D) 2 4 1 2 5
QUMTBHSS&H
Column-I Column- 11

a. eTevor GLmLlem e
6U6D)6V — (1) FevLTGeor

(&GS 6T

b. eVLICTTBF MG 6T — (2) 6T600T @ 600T UL, Q& ML LIL]
Ga il

11

c. &I CWTCFTI&GET — (3) LG 2 MHUSS
LHmID C&FLALILY

d. QUITEHEIGFMINGET — (4) sp6rflaaumeLn

e. @emeuBWITLIeTmervL_&6T — (5) LO(HH S!S 6rfl 6ot

B&F & H&HD
a b C d e
A 5 3 1 4 2
B) 3 4 2 1 5
QO 3 1 2 4 5
D) 2 4 1 2 5

BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. Normal breathing rate in human is

A) 100 per minute
B) 12 per minute
C) 38-40 per minute
D) 60 per minute
L0601 55 6011 60T @ UGV LITEOT SraUME efgLh
A) @0 BIILSTHHS 100
B) @ BIAL NS 12
0 @® PSS DHES 38-40

D) @® BIALSHMHES 60

47. A large proportion of oxygen remains unused
in the human blood even after its uptake by the
body tissues. This oxygen

A) Acts as a reserve during muscular exercise
B) Raises the pCO, of blood to 75 mm/Hg

C) Is enough to keep oxyhaemoglobin saturation
at 96%

D) Helps in releasing more O, to the epithelial
tissues.
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2 Ly Hassarmen 2 plepsliulL Um@Lb,
&HER6f6r QUBLLUGS Wwealls @QrsssSe
LWeTUMSSLILILITIOE 2_6TeTSl. @)\HS 2,8 & 8607
34,6018

A sl LulmSuller CUME @@ @LILLI
QUIMTBHETTS QFWeLIRQH M

B) Quésseler pCO, & 75
o WISSHMmE!

mm/Hg 4,86
0) &N CLm@GCermiier Qanlayl L emnev
96% @6V MEUSH (HEE CLIMSHILDTETS

D) TS Wwey HHF&EHEHES HH O, 3
QaueflliL 2 Ha|PmaI.

48. If the thoracic wall but not lungs is punctured
A) The lungs get inflated
B) The man dies as the lungs get collapsed
C) The breathing rate decreases

D) The breathing rate increases

mlemgulrev S|6V6VITLOGY LOTFL & GeUIy
SlememuIlL LI L Tev
A) BlIeTuTTeL efgsIen_Hmal
B) memyufrev FenFH6US TV LD 601 85 607
@mbaiellBleurest

Q) rauns efsD GmH M

D) &aun& a5l SIS sfEHRmal

49. Choose the correct combination of labelling from
the given options.

A)I- Nose, II- Bronchus, III- Larynx, IV-
Diaphragm, V- Trachea, VI- Lung

B) I- Nose, II- Larynx, III- Bronchus, IV- Lung,
V- Diaphragm, VI- Trachea
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C) I- Mouth, II- Trachea, III- Larynx, IV-Lung,
V- Diaphragm, Vi- Bronchus.

D) I- Mouth, II- Diaphragm, III- Trachea, IV-
Bronchi, V-Larynx, VI- Lung

BPESETHESLILL el  QUITIHESLOmeor
6T6u0T600T 1M & 1wl LUM&BIGET  GMleaILL L
allemLemws CHIHOSH&8 6D

Al- BAF, - PNFHFEHMETEH (GHLPVSHET,
- @&reveuemer, V- 2 grellgmeord, V-
eNE & &G L6, VI- Blemgulrev

B)I- BT, - GTeLeuemer, lll- PTG EH 6m6s

G&Lpeussar, IV- mlemguiyev, V- 2 srailsmeorid,
VI- LN F & & (GLO6V

O l- aumdl, ll- ePFFEHGSGLL6, - GT6L6UEET,
IV-mlemguye, V- 2 srellgmeord,  VI-
NG & &R 6TE (& LDV G 6T

D) I- euml, ll- 2 sreilgmeorid, |- eNEF&& @ LP6v,

V- eNEFFHER TS L6V V-GTevelemer, VI-
Blenguirev.

50. The largest amount of CO, is transported by the
blood as

A) CO, in the plasma
B) H,CO, in the plasma
C) Bicarbonate ions in plasma

D) Bicarbonate ions in the erythrocytes
QUS5556 21F & laTe| CO, HLESULIBS

A) @065 LNeTmeunmensy CO, eurmss

B) @& sL1 LNeTmeunmelley H,CO, aumss

Q) @ussll Llermeummeley  eUSTFLGCETL
S| Weol1&emmas

D) @U555 FleullLensaerfley emussmiuCer
3|60l &6
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51. The amount of air inspired or expired in each
normal breath by man is called as .............

A) Tidal volume
B) Total lung capacity
C) Inspiratory capacity

D) Residual volume

L0601 & 60TIT6L @) UIGVLITEIT 626)Q 6UIT(H &6 ITE & H) 60T

GuUTsILD o GTGEMMILD &STHM V6V
QeueflGWMID &THNET Q&TETETETEY, ............ 6T60T
MP&HELILGS M

A) (NFGFEEHTHMI 676
B) QLOM& S HemTufTeL Q& meTememey H)meor
Q) 2 L &aIMm&sSSH medr &mest

D) 6T@H T Wl Q& TETETETE

52. Assertion :
collapse

If these is no air in trachea, it will

Reasons : Trachea is without cartilaginous rings.

A) Both assertion and reason are true and reason is
the correct explanation of assertion

B) Both assertion and reason are true but reason is
not the correct explanation of assertion

C) Assertion is true but reason is false

D) Both assertion and reason are false

FaMOI: ELNF T8 L6016V SITMHMI B)6VEM6V 6TEOTMITEV
318 Flens bl llEID

&ITIJ600T LD: LN & &+ 5 &L 6016V S HSHRHNILDL]
6UEMEITUIMBIGH 6T 85MTevor LI LI(h) 615 6L60I6V.

A FadHm WMMID &MJeorld @ueor(h  &Fifl
HMID STFeoTD Sammmamer & ifluimeor
alen& & InMGLD

B) SaMmm LOMHMID &MTJeoorid @ revor(Qd  &ifl
QLEOTITEV &ITTEU0TD FaMMIM&meor  &Fiflimeot
l6m&H&H LD 2J606V

C) FammI &1fl HTT6oTLD HEUMTETSI

D)&mMM WOMMIID  &HTFeoorld @ revor(hld

SEUMITETER 6L

53. Which of the following step of translation does
not consume a high energy phosphate bond?

A) Peptidyl transferase reaction
B) Aminoacyl tRNA binding to A-site
C) Translocation

D) Amino acid activation

L9 edT6u (H 6 6oT6U M Ml 6V QUMHAQLIWIFTES S 69 60T
6TH% UIgBlemevulley 2 Wy Smmey LmervGLIL
Nemevor Ui LwedTL(B &S LG 6US 6ven6v?

A) QUILIL60IL6V L9 T ITeaTen &R LIGTEN 6TH Je6v)60T

B) LAIGBEOTIT MF6V 2LIJ.6T60T.6] A-@)L &I 60T
Llemevor LIL|

C) @LLmmmLD

D) 9yl Georm »dlevd QFW6ELLI(H &S5 6V

54. During initiation of translation in prokaryotes, a
GTP molecule is needed in

A) formation of formyl-met-tRNA
B) binding of 30S subunit of ribosome with mRNA

C) association of 30S mRNA with formyl-met-
tRNA

D) association of 50S subunit of ribosome with
initiation complex.

LHepmarflGwmlsefled QUMPOQLIWIFTS S 60 60T
QBMTLEHHSH T CGLITSI, 2(H GTP ePVHTn MGG
CaemauliLi(heusl

A) &LIMTTENLN6V QDG S CUITEm60T6T &L SI L.
6T6OT.6] 2_(hEUMEHSHSH MG

B) &M1&l 2ui.6t60r.gf et [lGLIMBFmLledT 30S
S0 60T 26V LI 6mr6moTeU S DS

Q) LTI QLGB CUITeneTedT 2 L 6T 30S
SlE! S T6T60T6] @)6eM6ETTeUSH DS

D) Q&MLES Snl LemoliL] 50S flGUMTGEFTID
SIEM600T {6V L_60T @)60)600TEUSHM S
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55. Select the incorrectly matched pair

A) Initiation codon - AUG
B) Stop codon - UAG
C) Methionine - AUG

D) Anticodon - mRNA

SaUMTsLl QUITBHH W @) 60)600TEM LIS

CaIBOSH&H&H|D
A) QaMTLES GIIUTD - AUG
B) Blemmey GMIui® - UAG

C) Q& Gwimesflesr - AUG

D) i ISMIUTDH) - B! 24176760767

56. Which one of the following is wrongly matched?

A) Transcription - Copying information from
DNA to tRNA.

B) Translation - Using information in mRNA to
make protein.

C) Repressor protein - Binds to operator to stop
enzyme synthesis.

D) Operon - Structural genes, operator and
promoter.
L9 edT6u (161 60T6U M Ml 6L 615 SHIMTEHLI
QUGBS W 6TeTs!

196760767 -6ll60 - @ BB S
Q&FUWIT &emerT

A LUQQWOHSHN -
HLES 9, 1T.6T60T.6] -5 &
B&HGC V(M LIS

B) QumBQuUWFLIL - &g LT.6Ter.gellev
2 6TeT HSHaIemMeVL] LWeTLBmSD LTHE605
9_(HEUMEH G SH6V

OILEH Lrslh - QUW&HEH LUGH UL 6T

@) 6m 6T H S QBTH & 6T 2 MUSH
BlogsHna
D) @UIMedT -  QemOLIL  LOJLSDISSEHET,

QW& G6T LDMHMILD 26785 @6 LI LIMeoTd 6T
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57. Because most of the amino acids are represented
by more than one codon, the genetic code is

A) overlapping
B) wobbling
C) degenerate

D) generate

QLIBLDLIMTEVITEOT OGeorT  LdleVMBIS 6T
6RETMIE G GumuL L (P &GN WLITBIGEITITEV
SOILNL U@ eusmev, 916&SMUTH &6

A) e260TGMIT(H) 6R60TMI @) 60)600T [ S 60) 61U & 61T

B) 2615 6uIT(h) LI60Y6) & 6T

Q) Blem 56 MILIED6US 6T

D) 2_(H6UTH (& LI6M6UEH 6T

58. In lac-operon, the ‘a’ gene encodes for
A) Repressor protein
B) Permease
C) Beta-galactosidase
D) Transacetylase
B LITMENTl6L ‘a’ npUe GMIui(h QFulaigl
A) L& L TsLd
B) QUL Guiev
O) LT LMT-CHevECLTHRGL 6V

D) 197 medTerV 3 &6t Gov6ry

59. All are practical applications of DNA finger
printing except one statement

A) To solve paternity or maternity dispute

B) Analysis the inheritance pattern of genes
through generations

C) Protection of endangered species

D) Improve tools for data analysis
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R FaHMMS ST S eNETSHSILD L]..6T6T.6] GTem S
SFFL6Y6T hem L (LpemmLl LIWeTLMT(H 86T Q&L

A) BTUl SleVeLdl SHenGenlwl HFLmeols @D
No&ER e aTs: 68 & Si6) & Tl 560

B) H6m6u(WenM&6TleT aULIME LOT LIS 86T
SLESSLLGMS LGLILTUIIG Q&FUIH60

O) 90 a euLd 2 ullifleormigerfler LIMsissmLiL

D) &6 &H60)6T - TNVEToY Q&F 6 M8 TeoT
&mallseneT GG S SHIH6V

60. Select the two correct statements out of the four
(1—1v) statements given below about lac operon.

(1) Glucose or galactose may bind with the repressor
and inactivate it.

(i1) In the absence of lactose, the repressor binds with
the operator region.

(ii1) The z-gene codes for permease.
(iv) This was proposed by Jacob and Monod.
The correct statements are

A) (i) and (iii)

B) (i) and (iii)

C) (ii) and (iv)

D) (i) and (ii)
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Gevd eUITmeT LIMM HCL Q&MTHSHSHLILIL (H6T6rT

BTG (i — iv) Fammiserfley, @uevor( &iflwimeor

FnDM&HEETS CHIHG S (H&&e)LD

() @ EB&HCSH TNV 3|6V6L S C&HeLEGL e
S| &R UL 60T LNemr6t0TH B 260 QF W P& &5
Q&I 6T M 6OT.

(i) GeuSHBLITeV @ eveuTs  Blemevuiey, @ UISH
LGS UL 60T 3|55 @)6m6etorHMSI.

(iii) z LDFLIEDIGH 6T QUITLAIGUISN QBT & 6H 88 TeoT
SMIUIH 560618 Q& T6v0T(H)GITEITEOT.

vy @& GCgGsML  mmID GLmGeorm(h)
SLECWIMTTTEL (TR LMLESIWICILIL LS.

FrlWMeT o.M 0186

A) (i) LoD mILD (ii)
B) (i) Lot (i)
C) (i) HDID (iv)
D) (i) LoDt (i)
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